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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154757824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547530501, 1
61547530502, 2
£15475320502. 2
E1547520504 4

Question Number : 2 Question Id : 6154757825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % “4) 15%
Options:

E1547530505. 1
61547530506, 2
61547530507, 3
61547520508, 4

Question Number : 3 Question Id : 6154757826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547530509, 1
61547520510, 2
E1547530511. 3
E1547530512. 4

Question Number : 4 Question Id : 6154757827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475205131
61547530514, 2
61547520515 3
61547520516 4

Question Number : 5 Question Id : 6154757828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 20158 (4) 2016
Options:

61547530517, 1
615475320518, 2
61547520519, 3



E1547530520. 4

Question Id : 6154757823 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension

e arferent § 99 2012 | 2018 T 919 &9 991 = 279 Rl oA 2R 3eed o = T=mm
(A, B 3T C) & gT&Ai =l A1 o ARSI SN0 T & | AR | o3 T3 ATHST & AR W F=eraa

7t (1-5) % I i

T TR F ATEAT T FUGR IS

FTEA
Tg‘ A-T=T B -39 C - 3arEa
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154757824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

61547520501, 1
61547530502, 2
61547520502, 3
E1547530504. 4

Question Number : 2 Question Id : 6154757825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T4 2014 | IeATEd A ST TEA1 = TG 99 2016 § Ieqted C 3T ATEAT 6 7m0 ha ufdera are

1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



E1547530505. 1
61547530506, 2
61547530507, 3
61547520508, 4

Question Number : 3 Question Id : 6154757826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 (2) 4
(3) 3 4 1
Options:

51547520509, 1
61547530510, 2
61547520511, 2
61547520512, 4

Question Number : 4 Question Id : 6154757827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o ™9 391 § T 207 3eITed B SET STEAT o6l ST TS 349 o1 7

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475205121
61547520514, 2
E1547530515. 3
E1547530516. 4

Question Number : 5 Question Id : 6154757828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfeIad § ® 779 99 991 TR & a1ad] 1 Fd Scaed 60000 o917

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547530517. 1
615475205158, 2
E1547530519. 3
B1547530520. 4



Sub-Section Number: 2
Sub-Section I1d: 615475347
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154757829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547530521,
E1547530522.
BE1547530523.
61547530524,

o LI

Question Number : 6 Question Id : 6154757829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF =FEd 70 e ®1 90 T H 99 F 25% BH 32T 7 | 30% AT FHEM & 0 234 9= H ThaAl
UTe ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

E1547530521. 1
BE1547530522. 2
61547530523, 3
61547530524, 4

Question Number : 7 Question Id : 6154757830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

E1547530525. 1
E1547530526. 2
E1547530527. 3
B1547530528. 4

Question Number : 7 Question Id : 6154757830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
U TosRdl @1 60 T Wid 7RI, R 78 ¥ uid R, gom # = f 31 T TR o e g |
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(1) 114 2y 7T:2
(3) 518 (1) D2
Options:

B1547530525. 1
61547530526, 2
E1547530527. 3
61547520528, 4

Question Number : 8 Question Id : 6154757831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

E1547530529. 1
61547530530, 2
61547530521, 3
61547530532, 4

Question Number : 8 Question Id : 6154757831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faferEa 8§ 9 e 1 97 ®F T 5 7 9 A & M e JEen F fEa 29 W FEEER @ | 98
gt 31

bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4 abbbe
Options:

615475305291
61547530520, 2
E1547530521. 3
E1547530532. 4

Question Number : 9 Question Id : 6154757832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. (4) Tlke.
Options:

61547520532, 1
E1547530534. 2
E1547530535. 3
51547530536, 4

Question Number : 9 Question Id : 6154757832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 8 & 9 faenien =1 sitas === 60 .01 2 | 3tz 10 o faen=fi =1 o= adt 10 fa=nir=n =
3iad 994 § 9 ., s1fa= 2, @1 109 feenefi =1 9= =

(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

B1547520533. 1
61547530534, 2
61547530535, 3
61547520536, 4

Question Number : 10 Question Id : 6154757833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547520537, 1
E1547530538. 2
B1547530539. 3
51547530540, 4

Question Number : 10 Question Id : 6154757833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547530537, 1

61547530538, 2

51547530535, 3
61547530540, 4

Question Number : 11 Question Id : 6154757834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547530541. 1
61547530542 2
61547530543, 3
61547530544, 4

Question Number : 11 Question Id : 6154757834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=0 =41 7

-
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Options:

E1547530541. 1
B1547530542 2
61547530543, 3
61547530544, 4

Question Number : 12 Question Id : 6154757835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547520545, 1
E154753054E. 2
E1547530547. 3
615475305458, 4

Question Number : 12 Question Id : 6154757835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) e hTe (2) TFg-FA
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Options:

£1547530545. 1
61547520546, 2
E1547530547. 3
515475305458, 4

Question Number : 13 Question Id : 6154757836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547530549, 1
61547530550 2
61547520551, 5
61547530552 4

Question Number : 13 Question Id : 6154757836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) A, HTHISTR T 30 =1

Options:

61547530549, 1
61547530550 2
E1547520551. 2
61547530552 4

Question Number : 14 Question Id : 6154757837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547530553. 1
51547530554, 2
61547530555, 3
61547530556, 4

Question Number : 14 Question Id : 6154757837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YNE § 919 2011 9% Fhdd TP S99 R 97 59 A9IN0T 97

(1) a8 &R 421 (2) Had 10 31 75
(3) I 75 W 421 (4) FaA 102 3R 515
Options:

£1547530552. 1
E1547530554. 2
E1547530555. 3
51547530556, 4



Question Number : 15 Question Id : 6154757838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547530557. 1
61547520558, 2
E1547530559. 3
B1547530560. 4

Question Number : 15 Question Id : 6154757838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547530557 1
E1547520558. 2
E1547530559. 3
61547530560 4

Question Number : 16 Question Id : 6154757839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 1= a case of :

(1) Comparison (2) Implication
(3) Perception (4) Verbal Testimony
Options:

E1547530561. 1
E1547530562. 2
B1547530563. 3
61547530564, 4

Question Number : 16 Question Id : 6154757839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475305611
61547530562 2
61547530563 2
1547530564 4

Question Number : 17 Question Id : 6154757840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition is true, “I” proposition is false and “O” proposition is false
Options:

51547530565, 1
61547530566, 2
E1547530567. 3



E1547530568. 4

Question Number : 17 Question Id : 6154757840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=
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Options:

61547530565, 1

61547530566, 2

61547530567. 3

61547530568. 4

Question Number : 18 Question Id : 6154757841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

61547530565, 1
61547530570, 2
61547520571, 3
E1547530572. 4

Question Number : 18 Question Id : 6154757841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Afefad ¥ 9 FF-91 9 9 g =Ezm Ed 2 " faE 27

(1) T8 Ha FHAZE 204 2 (2) FB FHE = TE B E |
(3)  FrE oft T T=gE TE BT B (4) = oft ToTEE FE TE BT B
Options:

61547530569, 1
E1547530570. 2
E1547530571. 3
BE1547530572. 4

Question Number : 19 Question Id : 6154757842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547530573. 1
61547530574, 2
61547530575, 3
61547530576, 4

Question Number : 19 Question Id : 6154757842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[}

forgd | 8 FHE-91 T9TS1 1916707 =1 51k 9781 & 7
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Options:

61547530573, 1
61547530574 2
61547530575 2
61547520576, 4

Question Number : 20 Question Id : 6154757843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547530577, 1
61547530578 2



E1547530573. 3
61547530580, 4

Question Number : 20 Question Id : 6154757843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547530577, 1
61547530578, 2
615475305793 2
615475305280 4

Question Number : 21 Question Id : 6154757844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547520581, 1
61547520582, 2
E1547530583. 3
E1547530584. 4

Question Number : 21 Question Id : 6154757844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HTIREd § | w9 d1 TUIcH 19 F FaAied Tal 8 ¢
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Options:
61547530581, 1
61547530582, 2

61547530583, 3



E1547530584. 4

Question Number : 22 Question Id : 6154757845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

E1547520585. 1
61547520586, 2
E1547530587. 3
E1547530588. 4

Question Number : 22 Question Id : 6154757845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547520585, 1
61547530586, 2
61547530587, 3
61547520588, 4

Question Number : 23 Question Id : 6154757846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547520589, 1
E15475305380. 2
E15475305391. 3
515475305382, 4

Question Number : 23 Question Id : 6154757846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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615475230589, 1
61547520530, 2
61547520531, 3
E1547530532. 4
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Question Number : 24 Question Id : 6154757847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D
(2)
(3)
(4)

Options:

(a), (c) and (d)
(b), (¢) and (d)
(), (b) and (c)

). (b) and (d)

(a

51547520553, 1
615475305394, 2
61547530535, 3
E15475305396. 4

Question Number : 24 Question Id : 6154757847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) X (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

£15475305393. 1
E15475305384. 2
E15475305385. 3
515475305396, 4

Question Number : 25 Question Id : 6154757848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options:
61547530597, 1



E15475305398. 2
61547530555, 3
61547520800, 4

Question Number : 25 Question Id : 6154757848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(d)  Toerrt =1 fomEd =g9En
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TE faehed g

(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) 3R (d) (4) =EA (a), (b) IR (d)
Options:

E15475305587. 1
E15475305398. 2
51547530599, 3
61547520800, 4

Question Number : 26 Question Id : 6154757849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
615475306801,
E154753080Z,
E1547530603.
61547530604,

[ N

Question Number : 26 Question Id : 6154757849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  BEHEM TREREl 3-3ME9 61 U 35 |1 I JH1dd oY 2

(b)  I-TITEA TFT WY TN UGHATST 3 FE A A% G A F e 1 et 2

(c)  WTfes Hal g (T TH =) $-370 FATT HA1S] il ST FAH SN 396 TA0 H TEEF 7 |

(1)  (a), (b) 3K (c) (2) A (b) AKX (c)
(3)  FaH (a) HN (c) (4) FAA (a) AN (b)
Options:

615475206801, 1
61547530602, 2



E1547530603. 3
51547530804, 4

Question Number : 27 Question Id : 6154757850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 1z loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547530605, 1
61547530606, 2
61547530607, 3
61547520608, 4

Question Number : 27 Question Id : 6154757850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530605, 1
1547530806, 2
1547520807, 2
61547530608, 4

Question Number : 28 Question Id : 6154757851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
61547530609, 1
61547530610 2
61547530611, 2
61547530812 4

Question Number : 28 Question Id : 6154757851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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= T ™ e ® 9w foew g

(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) (4) (a), (b) I (c)
Options:

61547530609, 1
E1547530610. 2
61547520611, 3
E1547530612. 4

Question Number : 29 Question Id : 6154757852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
154753061321
61547530614 2



E1547530615. 3
B1547530816. 4

Question Number : 29 Question Id : 6154757852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a). (b) I (c)
Options:
615475306131
61547530614, 2
61547520615 =
61547520616, 4

Question Number : 30 Question Id : 6154757853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475306171
1547530818 2
61547530619 2
61547530620 4

Question Number : 30 Question Id : 6154757853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475306817. 1
61547530818, 2
615475306149, 3
E1547530620. 4

Question Number : 31 Question Id : 6154757854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547530621, 1
61547530622, 2
61547530822 2
1547520824 4

Question Number : 31 Question Id : 6154757854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fa (a) 31 (b)
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(4) I (b) 3R (d)

Options:

61547530621, 1
E1547520822. 2
1547520622, 5
61547530624, 4

Question Number : 32 Question Id : 6154757855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate samphng frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547530625. 1
61547530626, 2
E1547530627. 2
E1547530628. 4

Question Number : 32 Question Id : 6154757855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530625, 1
1547530826 2
1547520827, 2
61547530628, 4

Question Number : 33 Question Id : 6154757856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1)  Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(m1). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547530629, 1

51547530630, 2

615475306821, 3
E154753063%2. 4

Question Number : 33 Question Id : 6154757856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 @-@), (b)-GD), (0)-Gi), (d)-(iv)
@ (@-GD), (b)-Q), (0)-Gv), (d)-({i)
(3 (@-i), (b)-Gv), (¢)-(1), (d)-@
@ @-w), (b)-(), (e)-(), (d)-(iiD)

Options:

61547530629, 1
1547520820 2
61547520621, 5
61547530632 4

Question Number : 34 Question Id : 6154757857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547530633, 1
61547530634 2
61547530635 2
61547530636 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154757857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1v), (b)-(1), (e)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(111)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547530633, 1

61547530634, 2

61547530635 2

1547530836 4

@
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Question Number : 35 Question Id : 6154757858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(v)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(1v), (b)-(ii), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(1v), (c)-(11), (d)-(i11)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547530637, 1
615475308328 2
1547520829 2
61547520640, 4

Question Number : 35 Question Id : 6154757858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(1v), (e)-(11), (d)-(111)

Options:

61547530637, 1

61547530638, 2

61547520639, 3
61547520640, 4

Question Number : 36 Question Id : 6154757859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column 1T
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(1v), (c)-(111), (d)-@)
(2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(2), (d)-(112)
4) (2)-(1), (b)-(1v), (¢)-(@), (d)-(112)

Options:
61547530841 1

E1547530642. 2
E1547530643. 3
B15475306844. 4

Question Number : 36 Question Id : 6154757859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Fiaq - T Fieaq - 2
(a) EETHETET (i) Tt
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FSET
(d) o (iv) HHNICHFAER

&l fahoT T

(1) (a)-(i1), (b)-(iv), (c)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(1), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(ii1)
Options:

E1547530641. 1
615475306842 2



E1547530643. 3
B15475306844. 4

Question Number : 37 Question Id : 6154757860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547520645, 1
E154752064E. 2
E1547530647. 3
E1547530648. 4

Question Number : 37 Question Id : 6154757860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530645, 1
61547530646, 2
61547520647, 3
E1547530645. 4

Question Number : 38 Question Id : 6154757861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (111) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(11), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (¢)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547530645. 1
61547530650, 2
615475306851, 3
61547520652, 4

Question Number : 38 Question Id : 6154757861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G1), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-G1), (d)-Av)

Options:

61547530649, 1
61547530650 2
615475320851 =2
1547520852 4

Question Number : 39 Question Id : 6154757862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

154753068531

1547530654, 2

61547530655 2

61547530656 4

Question Number : 39 Question Id : 6154757862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) B T THA T A, WSS, TS/ EEA

Options:

61547530653, 1
61547530654 2
61547530855 2
1547520856 4

Question Number : 40 Question Id : 6154757863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547530857.
E1547530E658.

E1547530659.
B1547530860,

[ N S

Question Number : 40 Question Id : 6154757863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEfTRad & % 91 AGHA B ATHR T 52 ATHR & 00 & H&l T & 7 F Tal w187
(L = [P: e, \--=' ST

[ = [}

(2) e, e, ET STe]

(3 e, T, 9w, s

(4) T, e, sTe], e,

Options:

615475306857,
61547530658,
£1547530659.
E15475306860,

[ N

Question Number : 41 Question Id : 6154757864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E15475306E1. 1
E1547530662. 2
B1547530863. 3
61547530664, 4

Question Number : 41 Question Id : 6154757864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 IMG-Te=4 § T&qq Fd T 6T T T 1 S 2 ¢

(1) O, |rfecd =hi TEie, TRTE, STFERo =1, TEE
(2)  TEcT <hi THIETT, TS, FAGENON T, TR, gt
(3)  WHEHI, Aifecd hi FHIeT, SFUWON &M=, T
(4)  THE, 9TEcd i THET, FFERON =T, T

Options:

1547530661, 1
E15475208E2. 2
61547530662 o
61547530664, 4

Question Number : 42 Question Id : 6154757865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

615475306865, 1
E154753066E6. 2
E1547520667. 3
E15475306EE. 4

Question Number : 42 Question Id : 6154757865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530665, 1

61547530666, 2

1547530867, 2

61547520665, 4

Question Number : 43 Question Id : 6154757866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A): A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false, but (R) 1s true



Options:

61547530669, 1
1547530870 2
1547520871, 2
1547530672 4

Question Number : 43 Question Id : 6154757866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530669, 1
61547530670, 2
61547530671, 2
15475306872 4

Question Number : 44 Question Id : 6154757867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
615475306731
15475306874 2
61547530675 2
61547530676 4

Question Number : 44 Question Id : 6154757867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A) T8 8, 7 (R) &4 2 |

4) (A T4z, g (R)TE 2

Options:
61547530673 1

E1547530674. 2



E1547530675. 3
B154753087E6. 4

Question Number : 45 Question Id : 6154757868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475306771

15475306878 2

E1547530679. 2

61547530650 4

Question Number : 45 Question Id : 6154757868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) (AT B WG, (R) TR R
Options:
61547530677, 1
61547530678, 2
61547530879 2
1547520820 4

Sub-Section Number: 3
Sub-Section 1d: 615475348
Question Shuffling Allowed : Yes

Question Id : 6154757869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation 1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledgze deserves a
particularly high profile recognition. despite all the good things that can be rghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat view of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154757870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

615475306851, 1
61547530682, 2
61547530683 o
61547530654, 4

Question Number : 47 Question Id : 6154757871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547530685. 1
61547530886, 2
B1547530887. 3
61547520688, 4

Question Number : 48 Question Id : 6154757872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547530659 1
61547530650 2
615475306391 2
61547530632 4

Question Number : 49 Question Id : 6154757873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475306393, 1
61547530634, 2
61547520635, 3
E1547530636. 4

Question Number : 50 Question Id : 6154757874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547530697, 1
61547530698, 2
61547530699 2
615475320700, 4

Question Id : 6154757869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154757870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  ITEE (4) T IE

Options:

1547530681, 1
1547520882 2
61547530682 o
61547530684, 4

Question Number : 47 Question Id : 6154757871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % AN AElAlEd d | w5 w2

(3)  dvdrmo-Tandi ugei ff = AEHa (4)  THE T Ggiedl S e
Options:

15475306885 1

15475306586, 2

61547530687 2

E1547530650. 4

Question Number : 48 Question Id : 6154757872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547530689. 1
61547530830, 2
61547530631, 3
E154753063%2. 4

Question Number : 49 Question Id : 6154757873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530693, 1
615475320894 2
E1547520895 =2
61547530696, 4

Question Number : 50 Question Id : 6154757874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475206497, 1
615475206598, 2
615475206399, 3
61547520700, 4
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154757875 Question Type: MCQ Option Shuffling : No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475207011
61547530702 2
61547520703, 3
E1547530704. 4

Question Number : 51 Question Id : 6154757875 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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1 &% 2) DI
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Options:

E1547530701.1
61547530702 2
61547530703, 3
61547530704, 4

Question Number : 52 Question Id : 6154757876 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) 127 @ b
(3) ) (4) DIZ

Options:

515475207051
61547530706, 2
61547520707, 3
61547520708, 4

Question Number : 52 Question Id : 6154757876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ik @ b
(3) ) (4) DIz

Options:

E1547530705. 1
B1547530706. 2
61547530707, 3
61547520708, 4

Question Number : 53 Question Id : 6154757877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475207051
61547520710, 2
61547520711, 3
E1547530712. 4



Question Number : 53 Question Id : 6154757877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1L  FHEL»HHA Q) ELMLHH
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Options:

E1547530703. 1
61547530710, 2
61547530711, 3
E154753071Z2. 4

Question Number : 54 Question Id : 6154757878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) s ool IR 4) HLLL
Options:

515475207131
61547530714, 2
61547530715 3
E1547530716. 4

Question Number : 54 Question Id : 6154757878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475207121
61547520714, 2
E1547530715. 3
E1547530716. 4



Question Number : 55 Question Id : 6154757879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3) Birs 4) Bhihb i

Options:

61547530717, 1
61547530718, 2
61547530719 2
615475307204

Question Number : 55 Question Id : 6154757879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAIZABRLBEYU L EEE (1)~(4) OFMLLBE DRI,
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Options:

61547530717, 1
61547530718 2
61547520719, 5
61547530720 4

Question Number : 56 Question Id : 6154757880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475307211
E1547530722. 2



E1547530723. 3
B1547530724. 4

Question Number : 56 Question Id : 6154757880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547530721, 1
E1547530722. 2
E1547530723. 3
B1547530724. 4

Question Number : 57 Question Id : 6154757881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547530725. 1
E1547530726. 2
B1547530727. 3
61547530728, 4

Question Number : 57 Question Id : 6154757881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475307251
E1547530726. 2
E1547530727. 3
E1547530728. 4

Question Number : 58 Question Id : 6154757882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 58 Question Id : 6154757882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 59 Question Id : 6154757883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 59 Question Id : 6154757883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 60 Question Id : 6154757884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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61547530738, 2
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Question Number : 60 Question Id : 6154757884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547530737, 1
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Question Number : 61 Question Id : 6154757885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 61 Question Id : 6154757885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FROOOLNRIC Y- AU ET (1)~ (4) OFMNLERR XN
FLIYZE-THEAT D,

0 e @ #ik
@ RE @
Options:

615475307411
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Question Number : 62 Question Id : 6154757886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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61547530746, 2
E1547520747. 3
615475207458, 4

Question Number : 62 Question Id : 6154757886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 63 Question Id : 6154757887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 63 Question Id : 6154757887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 64 Question Id : 6154757888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547530754, 2
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Question Number : 64 Question Id : 6154757888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 65 Question Id : 6154757889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547530757, 1
61547530758 2
E1547520759. 2
61547530760, 4

Question Number : 65 Question Id : 6154757889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 66 Question Id : 6154757890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 66 Question Id : 6154757890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 67 Question Id : 6154757891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 67 Question Id : 6154757891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 68 Question Id : 6154757892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 68 Question Id : 6154757892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 69 Question Id : 6154757893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 69 Question Id : 6154757893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 70 Question Id : 6154757894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 70 Question Id : 6154757894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 71 Question Id : 6154757895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 71 Question Id : 6154757895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 72 Question Id : 6154757896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 72 Question Id : 6154757896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 73 Question Id : 6154757897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 73 Question Id : 6154757897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547530789. 1
61547530730, 2
61547530731, 3
E154753073%2. 4

Question Number : 74 Question Id : 6154757898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 74 Question Id : 6154757898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B15475207593. 1
61547530734, 2
61547520735 3
61547520736, 4

Question Number : 75 Question Id : 6154757899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547530800, 4

Question Number : 75 Question Id : 6154757899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 76 Question Id : 6154757900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 76 Question Id : 6154757900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 77 Question Id : 6154757901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 77 Question Id : 6154757901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 78 Question Id : 6154757902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 78 Question Id : 6154757902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 79 Question Id : 6154757903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 79 Question Id : 6154757903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 80 Question Id : 6154757904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547530818. 2
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Question Number : 80 Question Id : 6154757904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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61547530818, 2
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Question Number : 81 Question Id : 6154757905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 81 Question Id : 6154757905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 82 Question Id : 6154757906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 82 Question Id : 6154757906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 83 Question Id : 6154757907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 83 Question Id : 6154757907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 84 Question Id : 6154757908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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E1547530923. 3
E1547530924. 4

Question Number : 107 Question Id : 6154757931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D EZAICAAELEY I LR (L) ~ (4 OF M BB XY,

(EIBhER | offlE L THEIFLDDIX T,
(1) B, D&, LY 2 &, DI, XN
(3) N2, A BT 4 Zzx. DI, b

Options:

61547530925, 1
61547530926, 2
61547530927, 2
61547530928 4

Question Number : 107 Question Id : 6154757931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D EZAICAAELEY I LR ~(4) OF MBI XU,

(BB OflE LTHEITFLRDLDIX Th b,

(1) B, Ol LY 2 &, DI, TN

@ Tx. OH KT @ Ex, OB Db
Options:

E1547530925. 1
61547530926, 2



B1547530927. 3
61547530928, 4

Question Number : 108 Question Id : 6154757932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D EIAIIAARERLEULR I EIEE(L) ~(4) DFNEEN

AAGEIZRBWT [hd - 6hvd ] O30T DEMERT,

(1) =z e, Bl 338 Q) =iTH. B L kE
(3) =ZiTH, Bl T= 4) BE, TELER¥
Options:

615475209291
61547520930, 2
E1547530921. 3
E1547530932. 4

Question Number : 108 Question Id : 6154757932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAICAAELEY R LIEE2(1)~(4) DFMNLROA

e

1) EH, WL E%E @ EiFE, ML Dk
(3) ZiFH, B LT (4 BEE. TELER
Options:

61547530929 1
61547530920, 2
61547520931, 3
E1547530932. 4

Question Number : 109 Question Id : 6154757933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DEZAICADIRDEHL2ZEITE (1)~ (4) ODFLLEPRRZ IV,

H AGEOREEE OF & LT NET L5,

(1) &1« Tl « TEl @ B, B . bbbl

(3) il « B . [Epo] @ Idbhy . )., L]
Options:

E1547530933. 1
61547520934, 2
E1547530935. 3
B1547530936. 4

Question Number : 109 Question Id : 6154757933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAICALRBELE LI LITE (1)~(4) OFPLEPR IV,

HAFEOREN G OfF & LT MEET HI D,

(1) B« T &L« I @ Bl . B . b

(3) i) » Bl . [Eo0] @ TIdiv . [l . L 6]
Options:

E1547530823. 1
E1547530924. 2
61547530935, 3
61547530936, 4

Question Number : 110 Question Id : 6154757934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DEZAHBICADROBEL R ZLIEE(1)~(4) OFNLBBUZR I,

EEEE X DEEICE > TTEL—FHOHFETH .
1) e + g, B + ghad, BlE + A

2) T + Bha, “‘IJ-?-}E b, A+ B

(3

)
) e - BE, BAE ¢ Bha, B+
)

ORI LU L2 é"*;ﬂ - B, R+ B



Options:

61547530937, 1
615475309328 2
E1547520929 2
61547520940, 4

Question Number : 110 Question Id : 6154757934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DELIAIAZELEYRZEITEZ(1)~(4) OF NGBV X,

CEAEIE 1 OEAIE o T Tk EOBETh S
(1) 4w + @hal, BAE + BhE, BIE + 445
(2) ﬂ?ﬁ:ﬁ' v o#EhEA. BIE + 446, ZaEa + #EhEA
® &E B, AR B, B A
@ AF B, pEE - B, @IE - B
Options:

51547520937, 1
61547530928, 2
61547530939, 3
E1547530940. 4

Question Number : 111 Question Id : 6154757935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAITAARELBEU R EIEE2(1)~(4) DEMLLBEBRR IV,

(6T BRessxFET. FRICLELS D3 HEEERET D,
(1) ZZx - gy - 2} (2) ZEx -BEY - T
(3) Zex - 2T - fH L 4) ZEX -@Eh - F/L

Options:

61547530941, 1
61547530942 2
61547530943 =2
61547520944, 4

Question Number : 111 Question Id : 6154757935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DL ZAICADRBELEYRZLIEZR(1)~(4) OFMLLBBER I,

6T BRessxEET. FRICLS D3 HEEERET D,
1 FEx -89 - 5ZF (2) ZEx - By - =T
(3) Zex -t - B L 4 28 @y - AL
Options:
Ll1547E20941. 1
L1547 EZ0942 2
E1547E=2004=2 2
L1E47EZ0944 4

Question Number : 112 Question Id : 6154757936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DL ZAICAIELEYZ LiIZ2(1)~(4) DFMLLBBOR X0,

[#EE | OFEIkE L TEAZDIZ T D,

(1) K, whxh, ) (2 KE., EH., FHKR
(3) KIEL, s, 2 H (4) K, EH, I
Options:

15475204945 1

L1547E30494e 2

L1E47E=Z0947 . =2

15475230048, 4

Question Number : 112 Question Id : 6154757936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DL ZAICAAELEY - LITZ2(1)~(4) DFNGERR XV,

[#EE | OFEIkE L TEAZDIZ T D,

(1) K, whxh, ) (2 KE., EH., FHKR
(3) KIEL, s, 2 H (4) K, EH, I
Options:

51547520945 1
61547530946, 2
61547520947, 3



E15475309458. 4

Question Number : 113 Question Id : 6154757937 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DL AICAAELREU I EIER(1)~(4) OFNLIBUR X

(%61 ORRBIT3SOBEEIHT S5, Fhid .
@ M. fE. IR @ R, H_-]Jfﬁ;a G
Options:

515475209459 1
61547520950, 2
61547520951, 3
E1547530952. 4

Question Number : 113 Question Id : 6154757937 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAIIALEDBEYULZ EIEZ2(1)~(4) OFLHBERL X

(%1 ORBIL 3 SOBEREIZH T 658, Fhid Thb.
M Bk, ok, 2k @ B, UK. R
(3) I_—ﬂ/f'\\ %/T\ i:\ “'{/}Ili” (4) "!il.’/\. [i]ﬁﬁ.:\ ?1{?5:‘;-""-:

Options:

51547520949 1
61547530950, 2
61547520951, 3
61547520952, 4

Question Number : 114 Question Id : 6154757938 Question Type: MCQ Option Shuffling: No Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DEZAIZADIERDBEUYELDOE(1)~(4) OFMLLERRE IV,

(1) HER., FERER. @mEET
@ WlEK, FERERE. MO0—E
(3) fEHET, G, EZmT
4 FERER. EEZhT. AT

Options:

E15475309535.

1

E15475308954. 2
E1547530955. 3
E1547530956. 4

Question Number :

114 Question Id : 6154757938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

DEZAIIADEREDLDBHRLOA(1)~(4) OFMLLERR IV,

AACLEMcESFE & LR Lo Ch o

1 HIFEK. FEER. mERT
@2  HER., FEER, A3
3 %A, SG#EEaT, 2T
@ FEER., . Aaehr

Options:

E1547530953.
51547520954,
515475230955,
61547520956,

Question Number :

[ N Y

115 Question Id : 6154757939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



DEZAIZALZERBBHLHDZ(1)~(4) OFNLBERNR I,
2019 FHIE, AARNO M E B HFaiTEEh i Cdn D,

(2) 85.3. 785
(4) 884, 82.3

Options:

61547530957, 1
£1547530958. 2
E1547520959 =2
61547530960, 4

Question Number : 115 Question Id : 6154757939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
DEZAIZADZIHBBHLRHDZ(1)~(4) OFNHIERNR I,

2019 FHE., BARANDO LM E BHEOEHHEMITFNLFI mChDH,

(1) 83.6, 77.9 (2) 85.3, 78.5
(3) 87.3, 80.8 (4) 88.4, 82.3
Options:

61547530957, 1
61547530958, 2
61547520959, 3
E1547530960. 4

Question Number : 116 Question Id : 6154757940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EROSEICEIBFAEZ LGNNI HEATLETER LRIV,

(1)~(4) OFPLBEPRIV,

(a) —WffE 2 & CEIRA
(b) THA B

© Eezx

d) HEESRMIC

e =rO%

O EREAERA

(1) (8)-(v1), (b)-(11), (¢)-(1), (d)-(1), (e)-(1v), (B)-(v)
(2) (2)-(1), (b)-(@v), (¢)-(v), (d)-(1), (e)-(v1), (H)-(11)
(3) (@ -@v), (b)-(), (¢)-(vi), (d)-(11), (e)-(v), (£)-(i1)
(4) (2)-(1), (b)-(@v), (¢)-(v), (d)-(), (e)-(11), (H-(v1)

Options:

1547530961,
61547530962,
61547530963,
61547530964,

[ N I

(1)
(11)
(iii)
(1v)
(V)
(Vi)

BT 5

RIET S

o

ELWEZ%

Question Number : 116 Question 1d : 6154757940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



EFROSEIZE Y BHHLLEMMALRBATIEZER LRSI, LT, ELWEZX®
(1)~(4) ODFPLBLEVR I,

(@) —Wf 2 &I ER L G U+ 2
b THAB i) EKT5
 E&x i) RT3
@) MR iv) T 5
e =rO% v) BET5
O FEREARERA vi) EFTIET %

(1) (8)-(v1), (b)-(11), (¢)-(1), (d)-(1), (e)-(1v), (B)-(v)
(2) (2)-(1), (b)-(@v), (¢)-(v), (d)-(1), (e)-(v1), (H)-(11)
(3) (@ -@v), (b)-(), (¢)-(vi), (d)-(11), (e)-(v), (£)-(i1)
(4) (2)-(1), (b)-(@v), (¢)-(v), (d)-(), (e)-(11), (H-(v1)

Options:
E1547530561.

E1547530962,
51547530963,
51547520964,

[ N I

Question Number : 117 Question 1d : 6154757941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

EllosRgr8B2zA»RTREW, €£LT, ELWEZ &

(1)~ Q) DFNPLIEBOIREVY,

el 0 1Al
& Wik -
© KB g
0 W (v) S

(1) (a)-(i11), (b)-(11), (¢)-(1v), (d)-(1)
(2) (a)-(1v), (b)-(111), (¢)-(1), (d)-(11)
(3) (a)-(v), (b)-(111), (¢)-(1), (d)-(12)
(4) (a)-(1), (b)-(v), (¢)-(@), (d)-(12)

Options:

61547530965, 1

61547530966, 2



E1547530967. 3
51547530968, 4

Question Number : 117 Question Id ;: 6154757941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EHMOEECE>EXEZARAMU»PLREBE VY EVW, ELT, ELWVWEZ %
(1) ~ (4) DHF ML IV,

ol © o
& B -
© KB (i) ZEKX
S Qv FS

(1) (a)-(111), (b)-(1), (¢)-(iv), (d)-@)
(2) (a)-(v), (b)-(111), (¢)-(1), (d)-(12)
(3 (a)-(1v), (b)-(111), (¢)-(2), (d)-(11)
(4) (a)-(111), (b)-(1v), (¢)-(), (d)-(11)

S

Options:

61547530965,
61547530966,
1547530967,
E1547530968.

[ N

Question Number : 118 Question Id : 6154757942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHloEmOETZ2HAA»PLLRBR2 SV, £L T, ELWLWEZZ
(1) ~ (Q)DOF N HIEN R S0,

(a) #ELh% @  AJIEAR
b)) —FEOW () HHEEF
() BB (i) HENF]—
(d  H Gv) HRRKE

(1) (a)-(11), (b)-(@), (¢)-(v), (d)-(ii1)
(2) (2)-(D), (b)-(iv), (¢)-(111), (d)-(i1)
(3) (a)-(ii1), (b)-(v), (¢)-(i1), (d)-(@)
(4) (a)-(1v), (b)-(i11), (c)-(1), (d)-(i1)

Options:
61547530969, 1
615475320970 2

E1547520971. 3



E1547530972. 4

Question Number : 118 Question Id : 6154757942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EMOEROEEZEFEM»PLRETRE N, £L T, ELWVWEZ %
(1)~ QDOFMNHHIER I U,

(a) &L i AR
b)) —EOW () H-EtEAL
(¢ JENLH ¥ (i) ] —
(@ Mg (iv) YRR

(1) (a)-(11), (b)-(1), (¢)-(1v), (d)-(111)
(2) (a)-(1), (b)-(1v), (¢)-(111), (d)-(11)
(3) (a)-(111), (b)-(1v), (¢)-(11), (d)-(1)
(4) (a)-(1v), (b)-(111), (¢)-(1), (d)-(1)

Options:

61547530569 1
61547530970 2
61547530971, 5
61547530972 4

Question Number : 119 Question Id ;: 6154757943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEARIORESERFAUCTERE L7 (BER 2 AR DB SV, TL T, ELWERZ(1) ~(4)
DFNPHIBOe S0,

(@) BIIRFRAR i HR—%
(b) KIEFFE @ Z=BHEER
(¢ BEFIRE{R Gii) FFJIFE=Z AT
@ CPERkERR (iv) Ff EFMH

(1) (a)-(), (b)-(). (¢)-(11), (d)-(111)
2 (a)-@), (b)-Av), (c)-(1D), (d)-(11)
(3) (a)-(1), (b)-(a11), (c)-(11), (d)-(1v)
(4) (a)-(111), (b)-(v), (¢)-(1), (d)-(11)

Options:

61547530973 1

61547530974, 2

B1547530975. 3
B1547530976. 4



Question Number : 119 Question Id : 6154757943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EMIORE R RHCICIERB LT EFZ 26BN XV, FLT, ELWEZZ(1)~(4)
DOFNHIBO IV,

(a) BITRIFR i HO—%
(b)  KIEFF{E i)y =EHfR
() BEFnRER (i) INJIEEZ AT
(A CPRRREE iv) R 3
(1) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

(2) (a)-@), (b)-Qv), (¢)-(111). (d)-(i1)

(3) (a)-(1), (b)-(ii1), (c)-(i1), (d)-{v)

(4) (a)-(11), (b)-v). (¢)-(1). (d)-(11)

Options:

615475308731
61547530974 2
61547530975
61547530976, 4

Question Number : 120 Question Id ;: 6154757944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EROBREZERICHDEELEO, ELWEZZ(1)~(4) OFHE BOR S,

&) RTE i LEFELT
(b) B (i) EFREH
) =4 (iil) T AR
@ [EF (iv) LGRS 7

(1) (a)-(v), (b)-(11), (¢)-(111), (d)-(2)
(2) (a)-(11), (b)-Av), (c)-(), (d)-(1)
(3) (a)-(11), (b)-(111), (c)-(1), (d)-(1v)
(4) (a)-(1v), (b)-(111), (c)-(1), (d)-(11)

Options:

61547530977, 1
E1547520978. 2
61547530979, 2
61547530980 4

Question Number : 120 Question Id : 6154757944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ao FB.7

HAEHNCHAFHEERER, ELWEZZ(1)~(4) DFNG

@ KTE G  ILUEFETT
b A i) BRI
(c) L

@ E5

(1) (a)-(v),
(2) (a)-(111),

(b)-(11), (¢)-(111), (d)-(2)
(b)-(av), (¢)-(2), (d)-(11)

(3) (a)-(11), (b)-(111), (c)-(1), (d)-(1v)

(4) (a)-(w),

Options:

61547530977, 1
61547530978, 2
61547530979 2
E1547520920. 4

(b)-(111), (¢)-(1), (d)-(11)

(i) TR
Av)  IIgE R

B X0,

Question Number : 121 Question Id : 6154757945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

/r TﬁlJfDE‘*Eil AERICHAFOERLEFER, ELWVWEZE 1)~ (@) OF b
(a) FEEBTE Q) MRV D

b)) EWAR i) £ LW eSO g

(¢ RIS (i) EHHEBEEICES O

(d AEFEAH

iv) WEDITWIZ

LW, FEROBENRRE S

(1) (a)-(1v), (b)-(1), (¢)-(11), (d)-(111)
(2) (a)-(11), (b)-(), (¢)-(1v), (d)-(1)
(3) (a)-(11), (b)-(111), (¢)-v), (d)-(1)
(4) (a)-(1), (b)-(ii1), (c)-(i1), (d)-(1v)

Options:

61547530981, 1
61547530982, 2
61547530983 2
6154753209284 4

Question Number : 121 Question Id : 6154757945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



EMONFRAEL»LEMMICLAFOERLFER, ELWEZAEZ Q1) ~ @ OFNG
E IO ASA/AN

(@ BRBTE i) RITEZRWVEOD

(b)y BIFAR i) ELWERAESE R

(ORISEONS i) HHBEICELI LD

(d) AEREH (iv) WEDITWIZ X DR, FEROBEPRED

D (@-@v). (b)-0). (0)-1), (d)-(u1)
2  (a)-), ()-Q), (0)-1v), (d)-1i)
3  (a)-(d), (b)-(1d), (¢)-(1v), (d)-@)
@  (@-D, (b)-aid), (¢)-1D), (d)-(1v)

Options:

61547530981,
61547530982,
£1547530983.
£1547530984,

[ N

Question Number : 122 Question Id : 6154757946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ERlOHERZ GROFER LR, ELWEZA(1)~(4) OF @R E N

o

@ IHEEZ H£HTiIFeL &I 1 =%

®b) HRIZBEAT BIINEFE2 »THh i) E

© TITOOZI FIOFEZIDIT BEM (i) Fk
1H

d BEEIZ H5EBRT 6K iv) F

(1) (a)-(11), (b)-(1), (c)-(111), (d)-(1v)

(2) (a)-(111), (b)-(1), (¢)-(11), (d)-(1v)

)

)
(3) (a)-(11), (b)-(1), (c)-(av), (d)-(111)
(4) (a)-(1v), (b)-(111), (c)-(11), (d)-(2)

Options:

61547530985, 1
61547530986, 2
1547520987, 5
61547530988, 4



Question Number : 122 Question Id : 6154757946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RO Z ARMOZFREFR, ELWEZA(1)~(4) OFMHEERRE N

@ HAR% iﬁ&’ytﬁi*ﬁ% e B i %

b)) FRICIHEAT ZEIEHFEE2 HTH<Ch i) =
e TITHOZ ;-{: TDOTFFZDOIT BED 1) X

1M

d HBEIZ 2566 T HHUK iv) #F
(1) (a)-(11), (b)-(1), (c)-(11), (d)-Av)

(2) (a)-(111), (b)-(1), (¢)-(11), (d)-Av)

(3) (a)-(11), (b)-(@), (¢)-(v), (d)-(11)

(4) (a)-(1v), (b)-(111), (¢)-(11), (d)-(1)

Options:

61547530985, 1
61547530986, 2
61547530987, 2
6154753093388, 4

Question Number : 123 Question 1d : 6154757947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ERIOBEANZLHBNZH D Z ORI EFED, IELWERXZ (1)~ @) OFNLEUZR IV,

(a) HEALT G FEIXIT EoTiIcT BEEAD
b)) WREEE i) RIFID boxMmElic SNLAT
V1T (i) Hli< ~E EN\HLHRY  IEEST
(@ IER-FB (v) iE EEICX IS Ko)

(1) (a)-(1), (b)-(iv), (¢)-(1), (d)-(ii1)
(2) (a)-(11), (b)-(1), (¢)-(i1d), (d)-(1v)
(3) (a)-(111), (b)-(), (¢)-(Av), (d)-(1)
(4) (a)-(@v), (b)-(i11), (0)-(1), (d)-(11)

Options:

61547530989, 1
615475309390 2
E1547520991. =2
61547520992, 4

Question Number : 123 Question Id : 6154757947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FEROPEANZHBNCHHFOFEM LN, ELWEZZ 1)~ @) OFNEERRE VY,

(a) HEFMT G FEIZIT FEDORTIZT FFALT
b MEERE i RIFID boxmElic SNLAT
(© BT Gi)) M ~E BENED700 EFESF
(@ 1ERM-FB (v) W EEICL IS RO

(1) (a)-(1), (b)-(iv), (¢)-(1), (d)-(ii1)
(2) (a)-(11), (b)-(1), (¢)-(i1d), (d)-(1v)
(3) (a)-(111), (b)-(), (¢)-(Av), (d)-(1)
(4) (a)-@v), (b)-(i11), (0)-(1), (d)-(11)

Options:

61547530989, 1
61547530990 2
61547530991, =
61547530992 4

Question Number : 124 Question Id : 6154757948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ERIOMENE ZIZHEL TWB N, ANHEXR, ELWEZE (1) ~(4) OFNMG
OV E U,

(a) FEhmE 1 AR

(b) I i) KB

(0 HYHEE (iii) fHHER)1| IR

(d) G\ E (iv) I

(1) (a)-(1), (b)-(1v), (¢)-(2), (d)-(111)
(2) (a)-(v), (b)-(), (0)-(11), (d)-(11)
(3) (a)-(11), (b)-(), (¢)-(1v), (d)-(11)
(4) (a)-v), (b)-(11), (c)-(1), (d)-(111)
Options:

15475309931

61547530994 2

E1547530995 2

E15475230996. 4

Question Number : 124 Question Id : 6154757948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EROFEN L ZITHIEL TV DD, AHHED, ELWEZE (1)~ (4) OFhb
OV S,

(a) e i AR
(b) R i) TR
() HEHIRE (i) fHZR)I] IR
(d EBRE S Gv) —HE
(1) (a)-(1), (b)-(1v), (¢)-(1), (d)-(111)

(2) (a)-(1v), (b)-(1), (c)-(11), (d)-(11)

(3) (a)-(11), (b)-(1), (¢)-(v), (d)-(1)

(4) (a)-(1v), (b)-(11), (¢)-(1), (d)-(111)

Options:

£1547530993. 1

1547530994, 2

51547530995, 2

51547530996, 4

Question Number : 125 Question Id : 6154757949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MDA > FOERTHAEZFOBABRDOTERTERAE, ELWEZZ(1)~(4) OFH)HE
R Z Wy,

@ LA i FE
b ==—FY— Gi) [
© T—AFr%F (i)  HUAD
@ &g iv)
() T—X (v) ik

(1) (a)-(11), (b)-(v), (¢)-(1v), (d)-(111), (e)-(1)
(2) (a)-(111), (b)-@), (¢)-(11), (d)-(1v), (e)-(V)
(3) (a)-(111), (b)-v). (c)-(1), (d)-(v), (e)-(11)
(4) (a)-(1v), (b)-(1), (c)-(111), (d)-(1), (e)-(V)
Options:
61547530997,
61547530993,
£1547530999.
£1547531000.

o LI M

Question Number : 125 Question 1d : 6154757949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EMOA > ROETHL22FOREROHHKFEAER, ELWEZA(1)~(4) O E
W7p &0y,

@ SR @
b)) =a—F - ) i
© T—AXN—F 1) AP
@ DA () i ]
B (v) A

(1) (a)-(11), (b)-(v), (0)-(v), (d)-(111), (e)-(1)
2 ()-(ii), (b)-G), (©)-G), (d)-(Av), ()-(v)
(3) (a)-(ii1), (b)-(v), (¢)-(1), (d)-(v), (e)-(i1)
(4) (a)-(1v), (b)-(1), (c)-(111), (d)-(2), (e)-(V)

Options:

61547530997 1

E1547520988. 2

E1547530999 3

61547531000 4

Question Number : 126 Question Id : 6154757950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IME, B, =Y a2 L TABRBRETAIELMOEEZ . BH AP & F UNEIZIF O,
ELWEZZ (1)~(4) OFNLREARR IV,

(1) JimEERk., HEES., BRER. WIIFEZI
2 B mEER ., SEERR. IIFEZ T

(3) SRINEEZ . BEIREIR. JINEERL, 8Bk
(4) SEER, JISEER, .:.JJ\,EHD‘ TNEE=Z AT

Options:

61547531001, 1
61547531002, 2
61547531003 =2
615475321004, 4

Question Number : 126 Question Id : 6154757950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IME, B, =22 TARRETOHIEROEFEEZZ, BH AW E R UNEICHE O,
ELWEZE (1)~(4) OFNLEDRR XU,

1) )ImEERL, EEERR, HRER. SFIIEEZIr
@  ERER. )EER. SEES. SFIIEEZIr
. JImEERk, SEIER

(3)  INIEEZI . BiREE, !
(4 EEESE, JEmER. BIRER. P2
Options:
61547531001, 1
1547521002, 2

E1547521003. 3
51547521004, 4

Question Number : 127 Question Id ;: 6154757951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

JISRRERR, BA I e 7e, EIREIR & ARBEAONEIZ Z 06 OfEMICH 2 B85 A4 3 O,
ELWEZRZE(L)~(4) OFNLETREILY,

1  FEA Vansr=, KEHEXH., &HHNT
(2) LHANT, KSR, Yansyr= | ZA
3 EA. BHHENT., Yan=, KHEKER
@ Tanr=, BHEHENMNF. KEEKRE, EA

Options:

51547531005, 1
61547531006, 2
61547531007, =
615475321008 4

Question Number : 127 Question Id : 6154757951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

JISRRERK . SEARE A7, BIRER EHFEADIEIZ Z 6 OEMIZH 2835 A4 3F O,
ELWEXZ(1)~(4) OFPLBEDLRI,

O =A, YVanr=, KHEXH, &HHnT
(2) ST, KSR, Yasry=, | ZA
(3) = A BT, danie=, KHEAR
(4) Yanr=, EHEMNT. KBEXER. EA

"
J

Options:
61547531005, 1
615475321006 2



E1547531007. 3
51547521008, 4

Question Number : 128 Question Id ;: 6154757952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(X PERSINNEFE, BEZVIHIPNVEFLERZEMXE O O
ARARNEIZ R, IELWEZZ(1)~(4) 0_)r1—'/j‘lf_JL_i_E:U\/ch_ L\.,

(1) 1253, 1318,1212 (2) 1212 1253 1318

(3) 1318, 1330, 1253 (4) 1330, 1253, 1219

Options:

£154752100%9. 1
E1547531010. 2
E1547531011. 3
B154753101%2. 4

Question Number : 128 Question Id : 6154757952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(X PERSINNEFE, BEZVIHIPNVEFLERZEMXE O O
FEMANEICER, ELWEZ ff_( 1)~(4) 0_)r1—'/j‘lf_JL_i_E:U\/ch_ L\.,

(1) 1253 1318,1212 (2) 1212, 1253, 1318

(3) 1318, 1330, 1253 (4) 1330, 1253, 1212

Options:

£154752100%9. 1
E1547531010. 2
E1547531011. 3
B154753101%2. 4

Question Number : 129 Question Id : 6154757953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ViluEE, EEWMEL WA MENSIRK SR ZIEICER, ELWEXE (1)~(4)
DN 53{)\71*{1‘

(1)  FREFR. EERER, SarR Q) SRR, R, TR
(3)  VEEERR. #EEERR. TR (4) LN, SREMC. BEARY

Options:

61547531013, 1
61547531014, 2
1547521015 =2
1547521016 4



Question Number : 129 Question Id : 6154757953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UJ H‘S{%un\ Tfﬁ%ﬂl1 H:JH %unﬂ H?HJ_&. 3{‘/} /f njﬂh “lé“*—]?‘f\‘ Il—’l"\%‘ri{% (L=
DN HEO/E I,

O WL, Wﬁﬁﬁ BATHY (@ HEATRY. AR, TR
@ PHEEHC SEEREY, TTFRRY @) TR, ZRRRHG, SRAHE

Options:

615475210132, 1
61547531014 2
61547531015 =
61547531016 4

Question Number : 130 Question Id : 6154757954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Rk AL DL EG M OB 2 ELWIEICIFEX, 2% 1) ~ @) OFhb@iih X
L,

(1y ZKiE. IEth, Bk Q2 WMiE, Bk, Rk
(3 KRik. Bk, 9k (4) 1E{E. 8L, Kik
Options:

515475210171
615475210158, 2
615475210143, 3
61547521020, 4

Question Number : 130 Question Id : 6154757954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BOIER AP OALZGAT O ZIE LWEICIES, HX % 1) ~ @) OFNLEOCRS
/A

(1) KiE, IElE B8k Q2 WMiE. Bk, Kk
(3) Rk, Bk, 9k (@) 1EE, BiE, Kk
Options:

615475310171
615475210158, 2
E15475310143. 3
E1547531020. 4

Question Number : 131 Question Id : 6154757955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A LR B AR U 2SN OE % &, Z ol LR ROIEICIE~, ELV B2 %
(1)~ (4) DFMNLEOR S0,

(1) HIE, PE, #FDm, 74 @ TE, BE, A7, #ORREIN
(3 HEE, A7 4, wE, mXfm @ $E, 74, weR, FHE

Options:

61547531021, 1
E1547521022. 2
61547521022 5
61547531024, 4

Question Number : 131 Question Id : 6154757955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR LA OE % &, O LR oEIZIES, ELW BZ A&
(1)~ (4) DFNLEDZ2 SV,

(1)  HIE, FE, #XFm, 7% (@ WE. HE, 7%, #XHn
3y HE, A7, FE. #kFn @ $E. A7 4., mXAmn, HIE

Options:

615475310211
1547521022, 2
61547531022
61547531024, 4

Question Number : 132 Question Id ;: 6154757956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B H{EE, ° HA%EM S ENRBEKE EEmEINIEICER, ELW E2% 1) ~ @

DOFNHBNE X
(1) J%|!|+? BEEAN, FHAEZ 2 HHEZ., BILEE, BEA
(3) EEAN. FHEZ., BlLEE @) EEAN, BlLEEEZ, BHES

Options:

61547531025, 1
61547531026 2
61547531027, 2
61547521028, 4

Question Number : 132 Question Id : 6154757956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1y HAEZ ".TEU\S:L%HHL
DFNEROR S,

\\

EARIERE LM SNEICES, ELL E2% 1) ~ @)

1) MELEE, FEA. FHEE @2 FHEZ, BLU=EE, FEA
(3) HEA., FHEZ., BLEE @) EEAN, Bl=Z, FHEZ
Options:

E1547531025. 1
E15475231026. 2
B1547531027. 3
E15475310258. 4

Question Number : 133 Question 1d : 6154757957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AART 16~17 i ZAEDOH—ICR A LIEZZKAHZIEICIES, ELWEZE (1) ~ @)
DO MNHIEREE W,

A )R

B. ERSS

C. JH4E

D. mMHEE

(1) Iz, BEFE. RE @2 EBEEFE. HEE. BIIFE

@) SBREAFE. FEEE. sBER (@) mHER. BREFH, BIIEE

Options:

61547531029, 1
61547531030 2
15475321021, =2
15475210322 4

Question Number : 133 Question Id : 6154757957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HAT 16~17T R ZAEOFE—ICRALE=ZKRABZNEICTER, ELWEZZ (1)~ @)
O)FT_[/JW)‘ Wi & VY,

A (B 5EE
B. SEAE
C. R

D. #HER

(1) WIIEE., BEHE. HE 2 BEHFE. BEE. WIIEE
3 BREAFE. HEY. &EEER @ MEfER. BEFE. WIIFEE
Options:

615475210291
61547521030, 2
E1547531021. 3
E15475231032. 4

Question Number : 134 Question Id ;: 6154757958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DEZAIIADLERDBEIEBRIEITE(1L)~(4) OFNBRERZ IV,
BFITEE AR T D LFIERRT & MHBELEREXLF T D,
(1) BEHERIER 2 FLfEFR
B) KELEE (4) Bl iiE

Options:

61547531033, 1
15475310324 2
61547521025 5
61547531026 4

Question Number : 134 Question Id : 6154757958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DELIAICADERbEYERZ y(l)ﬁ(_l)(j)rh/j\b O\ﬁféb‘o
BFILEE AR T D LFERRT L PORE LIRS CETH B,
(1) SRR ITE R~ 2 REL T‘lﬁd‘\'
S 0 SHHLE

Options:
61547531033, 1
154753210324 2

E1547521035 3



E1547531036. 4

Question Number : 135 Question Id : 6154757959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

NEZEAHZAHEE L THEDLDNTEX 02 FOEADNEIZIE S, ELW 2%
(1)~(4) OFNLERL I,

Q) F—F4FV N TTFu—F, XEEERE, 23a2=bF4T TFu—F
(2) EHERE., a3a=h7 47 T7a—F, PEESEE

(3) SCEEERE. A—F o F YV HN T Fa—F. ala=mhFaS FTa—F
(4) A —F 4 AV T a—F, dliEEE,. ala=h5F 47 T u—F

e

Options:

61547531037, 1
61547531038, 2
61547531039 2
615475321040 4

Question Number : 135 Question Id : 6154757959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WNEZEA 2 5 HFEE L ELI X 02 Z0EADIEIZE R, FLW &z %
(1)~(4) OFNLEDR IV,

Q) A=TaFIVHV TTu—F EWRE, 23=2=20747 TFu—F

(2) ERRE, 23ashTa 7 Tuo—F, PEESEE

@) XEHERE, A—F AV 7Fu—F, ala==hF47 TTFa—F
(4) A7 F YN FTHho—F, HligiEs. 23asfiFa 7 FTa—F

Options:

1547531037, 1
61547521028, 2
615475321029,
61547531040 4

Question Number : 136 Question Id : 6154757960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



RKOZEFDOENFLELTHRLIVEDZ (1)~ (4) OFNLRGIL S,

N5

Q) RBEAEIYVTFEWEFTOIOT, BRBOEZ LA THITTWDS
(2) ‘j’*'ﬁ;@ﬁ;]\f_ﬁ < T%V:_iﬁb \0.—)?_6\ a %ﬂﬁ‘f;”

@) HIMELHREZHEONTI VLIS, BT IR LR,
@ WRICIVEEEHTIANEENZELTVS,

Options:

E1547531041. 1

E1o4r531042 2

E1547531043. 3
51547521044, 4

Question Number : 136 Question Id : 6154757960 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ROZLIEOHENTELTROINVEDE (1)~ (4) OFNERUZAR SN

=05
1 BHIVTEWEEHI>DOT, FBOBZLATHITFTNS
Q2 FHNELKTRARWOT, BEZI Y TR,

B) EITELRIERZBEONTI VNG, HEIEH 2L,
@) HRCIVEFEFHTIRWERENFHL TS,

Options:

61547531041, 1
61547531042 2
61547531043 =
1547531044 4

Question Number : 137 Question Id : 6154757961 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

ROZEITDFENWFLELTERLBEINVEDE (1)~(4) DFNLIBBO/E I,
ToaEl

(1) IDFIH AL, BETOEATIEN G, BERICTHoEVEYE T,

:Yes

Yes

g
(2) RO —HERBSERAETCHE Y FREEIEHVESTWES, RiEoT,

B FEONEAXEZT, BEOEEEZZLTESL,
4) HIIBSoEELBEN T, ToXDEL1L TV,

T2 L.



Options:

61547531045, 1
615475321046 2
1547521047 2
61547521048, 4

Question Number : 137 Question Id : 6154757961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ROZEFDENTELELTRbEINVEDZ (1)~ (4) DFNLIBBTR SV,
ToED

(1) CEFEA AR, SETOE2ATEY b, BEREIETS2VEYTT,
(2) DT —FHB_EPAETTCHEVRELELIINVE-TWEL, KEE-T,
B FEONMNEZXEZT, BEOFEEREAZLILL, To&V Lk,

(4) TS OERELZBEN T, ToXDEL L TWA,

Options:

61547531045, 1
61547531046 2
61547531047 2
61547521045, 4

Question Number : 138 Question Id : 6154757962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
* WCALZERBWNEDE (1)~(4) OFNLEPLR IV,

BHTCEWVWTWD * BREEIALLERT,
BEr7- L o,

1  EEK @ BLTHE
@ Tz @ i
Options:

61547521049, 1
E1547521050. 2
E15475231051. 3
51547531052, 4

Question Number : 138 Question Id ;: 6154757962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



* W ADERBLOWVWEDE (1)~(4) OFNLEDRR XV,

BH TEWVWTWS * BEBEAELE R T,

BEsrie LS iral,

(1) LZIT @ BLTWH
(3) kA @) EhIZ
Options:

61547521049, 1
E1547521050. 2
E15475231051. 3
51547531052, 4

Question Number : 139 Question 1d : 6154757963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DEZAIZADERDBEUERLDE(1)~(4) DFNHIEPR IV,

CHEAd T

e [, AFEETHL > LWET D, ZHHBROIWFTII W ETHA
ANBEBEVVEEECHB>THEALVWTLL 95 |

At [THFEHA, EETETOHRVATT, HE3H_

1) o TWiElE biFiciTnE AL
2 FoTBWTIZRY FT

@) BELBRLLEFTEY £,

) FTERETOEELAIeELELESD

Options:

61547531053, 1
61547531054 2
15475321055 =2
1547521056 4

Question Number : 139 Question Id : 6154757963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



W

DEZAIZADERDLEIHRLOE(1)~(4) ODFMLLIRPR IV,

(LA [, AFERAETHE LWWET A, ZHHBROILUFTIInETHR
EnbBERBRFEEZIELBsTHEALVYTELE 385 |

Attt TFARERA, FETETWRVATY, HE3A_ |

1) FoTWiEL biIFiIZidnxEdAid
(2 FHoTBWTICRYET

B BEFELRELLETFTEY T,

) FTFETWHWEELZEELELEISD

Options:
15475310521

E1547531054. 2
E1547531055. 3
51547531056, 4

Question Number : 140 Question Id : 6154757964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

DEZAICALIELBEYZLIEE(1)~(4) ODFNHIBU/L XU,

MBENT X 5% (CHWD T&] #OFISCE Thb,

1) ZDBEZBRBFIAILIT D,
2 TEFHIFVKTEBEZIEST,
(3) KEBIZWOH—FELEEZ T DH S,
4) FEBEELTCHXXZEROITT,

Options:

61547531057, 1
615475321058 2
1547521059 =2
1547521060, 4

Question Number : 140 Question Id : 6154757964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DLIAICADIELEYRZLIEZ(1)~(4) OFEIBUZ2 XV,

T 2Z A% ICHWD T2 Boffixxit _ Thb,

(1) IORERFIAIIHIT 5,

Q2 ATV TERAE- -,
(3)  KERIZWHOB—EEZ LD B,
(4) FEBNIELTE XX ERSITT,

Options:

61547531057, 1
61547531058, 2
61547531059 =
615475321060 4

Sub-Section Number: 2
Sub-Section 1d: 615475350
Question Shuffling Allowed : Yes

Question Id : 6154757965 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Label © Comprehension



WONEAY L SFEAT, BOEROKROEYEREZE (1)~(4) OFNLLIERR IV,

Lozl

ZO/NHDODEANNTIRBHR B TY,
HBAE+HE (—AN") oFOBAB. BEBTAVDIERE A4 TFFNIALT
pY 1 RvAlr [ = U\%ﬁm?%UﬁAﬁE@LT%E@é&mbmiLtQL

Txuwwwwﬁ;Ewﬂm@fﬂ@wafttn%:m—AmﬁAﬁ
RHTCETC, TAV WM OROHB ZFREL I, V¥ b AR REET

AV INOMIYL~DIFE, BRHOZDR LT 92a. @B n)
Mz 93 Lx0ic  HELET, WEOBKE 92b. 5 A
DENEZBLEFEAREBRICE S OTLE, FRASLHLIWVW—H, HHITELZHEW,
PlezlBHzl

SEERXRDODTIBI=ZAEFE LI R ST, BLEbDFERTEET, =
—1— 1 )7:[‘}1/_{/}\ i Ze .'—'l';“*;_?/ .
AND— AT AL % Evvny, B AT, =, O, — AT E Vv,
+E BVWDARSL U ANTT, BiEliT—HRTHEIZOEZODINE T, E5X
LB LB LICHEZFoTWAL9 T, ZOFEANTIWVTRLET AU I~T
» CxLlk25

L TE/- 94 BFEH o0& L KX TLE,
EA: ELnkEDZ E, TYr by 0 TAYHOPMCKEE,. Xk BEavoxkttoz b

HiEHTE [EAOFHB] Ob5FL LY

Sub questions

Question Number : 141 Question Id : 6154757966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ICADBEL L THRBEUYRLOE (1)~(4) OFNLERL I N
1 »D 2 Wbix
& “TIHlLic @) Wbhwd

Options:

1547531061,
E1547531062,
61547531063,
61547531064,

n

[

Question Number : 142 Question Id : 6154757967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



92a & 92b ICAAHmOLEYRZ EITE2(1)~(4) OFMNLIBUR/R I U,

(1) 7. 2) b &
3 B, & (4 M, I
Options:

E1547531065. 1
E1547531066. 2
B1547531067. 3
E15475310658. 4

Question Number : 143 Question 1d : 6154757968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

LEDICOEWK: LTHRDEYRZLIEZ (1)~(4) OFMLETRE I,

Options:

1547521069, 1
1547521070 2
61547521071, 5
61547531072 4

Question Number : 144 Question Id ;: 6154757969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



BE OBRELTERLDESLRZEEZ(1)~(4) OF LB 0,
1 KE 2 RE
3) = 4) [&HE

Options:

61547521072 1
E1547531074. 2
E1547531075. 3
B1547531076. 4

Question Number : 145 Question Id ;: 6154757970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I & T ADEEBERICIET S 0% (1)~ (4) OFNLBORE W,

(1) KEDOENZIRIT, BELMNIZKZ AT AV I AOKHIZ EeaT 5=

(2) TZAFFTNT 4L T CORBICOLEEDRLS D &,

e

@ HEETAUDOESE - Bigo&k@HEICR3 T < 2

@) BEbLZAOLHLBAEWIHGEEAELIICRBZ

Options:

£1547531077. 1
61547521078, 2
61547531079, 5
61547531080 4

Question Id : 6154757965 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



WONEAY L SFEAT, BOEROKROEYEREZE (1)~(4) OFNLLIERR IV,

Lozl

ZO/NHDODEANNTIRBHR B TY,
HBAE+HE (—AN") oFOBAB. BEBTAVDIERE A4 TFFNIALT
pY 1 RvAlr [ = U\%ﬁm?%UﬁAﬁE@LT%E@é&mbmiLtQL

Txuwwwwﬁ;Ewﬂm@fﬂ@wafttn%:m—AmﬁAﬁ
RHTCETC, TAV WM OROHB ZFREL I, V¥ b AR REET

AV INOMIYL~DIFE, BRHOZDR LT 92a. @B n)
Mz 93 Lx0ic  HELET, WEOBKE 92b. 5 A
DENEZBLEFEAREBRICE S OTLE, FRASLHLIWVW—H, HHITELZHEW,
PlezlBHzl

SEERXRDODTIBI=ZAEFE LI R ST, BLEbDFERTEET, =
—1— 1 )7:[‘}1/_{/}\ i Ze .'—'l';“*;_?/ .
AND— AT AL % Evvny, B AT, =, O, — AT E Vv,
+E BVWDARSL U ANTT, BiEliT—HRTHEIZOEZODINE T, E5X
LB LB LICHEZFoTWAL9 T, ZOFEANTIWVTRLET AU I~T
» CxLlk25

L TE/- 94 BFEH o0& L KX TLE,
EA: ELnkEDZ E, TYr by 0 TAYHOPMCKEE,. Xk BEavoxkttoz b

HiEHTE [EAOFHB] Ob5FL LY

Sub questions

Question Number : 141 Question Id : 6154757966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ICADBEL L THRBEUYRLOE (1)~(4) OFNLERL I N
1 »D 2 Wbix
& “TIHlLic @) Wbhwd

Options:

1547531061,
E1547531062,
61547531063,
61547531064,

n

[

Question Number : 142 Question Id : 6154757967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



92a & 92b ICAAHmOLEYRZ EITE2(1)~(4) OFMNLIBUR/R I U,

(1) 7. 2) b &
3 B, & (4 M, I
Options:

E1547531065. 1
E1547531066. 2
B1547531067. 3
E15475310658. 4

Question Number : 143 Question 1d : 6154757968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

LEDICOEWK: LTHRDEYRZLIEZ (1)~(4) OFMLETRE I,

Options:

1547521069, 1
1547521070 2
61547521071, 5
61547531072 4

Question Number : 144 Question Id ;: 6154757969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



BE OBEMELTERLEELRZEIFTZ(L)~(4)DHFNLERE IV,
(1) ZE 2 RE
3) = 4) [&HE

Options:

61547521072 1
E1547531074. 2
E1547531075. 3
B1547531076. 4

Question Number : 145 Question Id ;: 6154757970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HiFRL S —AOEBAFICEETA2L0% (1)~(4) OFMNLBORR S,
(1) KEDOEZIBIT, BEEMSA2FHEZ L7 AV D AORERIC K+ 52
(2) T4 TN T7 4T TORBRCLEZELDNRLAZ L,

(3) BEET AU BOEEY - BgodtmiEicx s < =

e

4 BELoAOEMLBAWWIGEZESLIIIREZ

Options:
B1547531077. 1

E1547531075. 2
E1547531073. 3
51547521080, 4

Sub-Section Number: 3
Sub-Section Id: 615475351
Question Shuffling Allowed : Yes

Question Id : 6154757971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



ROVEZR L HAT, BOBEMOBEHLEEREZZ(1)~(4) DFNLEOR IV,

iz, 79, BEY, ERY, mGARLEEOVWEEABHLE VI U ST

BHEWH, T=——F BENNEIE, BEALZHENNEZCLDEEZ A, AHYtA X
CEREIBEIVA—PMILLbOBRFAHTREEINT-E EICiL, 96. iy

BEEIZH DD DL TROIS>NT LE T,

BFIZHEWICE 006 T, B TEEEZFEI LB EhoR It oT, &
B A ‘O%Qhﬁdé ER X404 KL, 97. KEBETIEz2E, L
N, HBEOOELTHAEITIC, AEEZGICEENRNTESZE V) I —1~—DY
CF BRSNS THS,

98. . HoTLEGKEFEMANE —HBItELHENTWER, —2A %
EAll)
LW BIZTEDEEAEI LoV, h— FEEBFHOBXHLT & %

sotl.2atLilkiEalc,

99. T huid. LR A XN THEEDIF—2/NhSLLTEBY, L2208
EREHLED 2Dl EWIZLS ol b ThD, -, BRT v }*ffi FliZ AN
LHE, BEPRUENLGTEDEMAREZEZ L, &ELEYV L LE, 90z
ERbolclcd, T, BEIPERLZzH VGV, F—0D%E f_bﬂib‘// v b
RLHEOETCHTEEDL, 83T DPIET—IH—DFHTCOEIRMPK X2 B
HbAhh, BARIANIZIADLEWVWI D —FEEOIITHLB, HDHEKRTIIIETH
Thy, oREsCHAIMLLWVAIIE, bW THEBER) KXIBx"bdDZ &

BRENEDTH D,
== : BEOCEVWILEZRAPLRILK.,. RTCEAETLRT VA
FHEME bO3< VDM &Y
Sub questions

Question Number : 146 Question Id : 6154757972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ICADAEELLTELEYRLDE(1L)~(4) OFNLIBEERR S

(1) i @) Y
3 RE (4) HEIR
Options:

E1547531081. 1
B1547531082. 2



E1547531083. 3
51547521084, 4

Question Number : 147 Question Id ;: 6154757973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EH2ITIE, BERERBELELEZTEO, (1)~(4) OFMHERBBR &L,

) BIEOBEICHWEATYL, TOERERLEHEICHEXZ I Zo7nb,
@2 FHLEWMEMZ L — FEEIX, BERKFHIWOTHEZ 00,

)

)

H G D Tl j":f_..ff”‘bli"rw TWiWh— FBEFE > Tthb,
R HBIZEENRTE T, FAOI — /1—DEWETENTEXENE,

Options:
1547531085 1

E1547531086. 2
BE1547531087. 3
515475210858, 4

Question Number : 148 Question 1d : 6154757974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ICADBTEL L TRBEIERLDZ(L)~(4) OFPNLELLR IV,
(1) LaxL
2 EnT

(4) L2

Options:

1547531089, 1
61547531090 2
61547531091, =
61547531092 4

Question Number : 149 Question 1d : 6154757975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fh AL TOHDOMN, (1)~(4) OFNEHERZ E WV,

(1) > O — FERZFEZLICEE L7-H#H
Q2 BEINTISTHRIIANTELAY A XD — FER
(3) AR A XD — FBERAFEDRS >3 H

1)  FBLHY A XDh— RERAZE - 7-FH

i

Options:

61547531093, 1
61547531094, 2
615475310395 =
615475321096 4

Question Number : 150 Question Id : 6154757976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
LRI A XD — FBEEREZ2E T TCEEILIPDLDDoEZ & B M

(1)~(4) DFNLBOZR IV,

O EECE, L LTHORTVRE S L) bOBDS.
@  EMARLE T BB O, BIEORRICR S5 £ R0,

(3) BRI, HITUTEWZE EELERR T < TER 2 H D72,
4) IO THERFEINTZ L ZITEEREDPBWVOLEDRWVIE D D30,

Options:

61547531097, 1
61547531098, 2
61547531099 =
6154753211004

Question Id : 6154757971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



ROVEZR L HAT, BOBEMOBEHLEEREZZ(1)~(4) DFNLEOR IV,

iz, 79, BEY, ERY, mGARLEEOVWEEABHLE VI U ST

BHEWH, T=——F BENNEIE, BEALZHENNEZCLDEEZ A, AHYtA X
CEREIBEIVA—PMILLbOBRFAHTREEINT-E EICiL, 96. iy

BEEIZH DD DL TROIS>NT LE T,

BFIZHEWICE 006 T, B TEEEZFEI LB EhoR It oT, &
B A ‘O%Qhﬁdé ER X404 KL, 97. KEBETIEz2E, L
N, HBEOOELTHAEITIC, AEEZGICEENRNTESZE V) I —1~—DY
CF BRSNS THS,

98. . HoTLEGKEFEMANE —HBItELHENTWER, —2A %
EAll)
LW BIZTEDEEAEI LoV, h— FEEBFHOBXHLT & %

sotl.2atLilkiEalc,

99. T huid. LR A XN THEEDIF—2/NhSLLTEBY, L2208
EREHLED 2Dl EWIZLS ol b ThD, -, BRT v }*ffi FliZ AN
LHE, BEPRUENLGTEDEMAREZEZ L, &ELEYV L LE, 90z
ERbolclcd, T, BEIPERLZzH VGV, F—0D%E f_bﬂib‘// v b
RLHEOETCHTEEDL, 83T DPIET—IH—DFHTCOEIRMPK X2 B
HbAhh, BARIANIZIADLEWVWI D —FEEOIITHLB, HDHEKRTIIIETH
Thy, oREsCHAIMLLWVAIIE, bW THEBER) KXIBx"bdDZ &

BRENEDTH D,
== : BEOCEVWILEZRAPLRILK.,. RTCEAETLRT VA
FHEME bO3< VDM &Y
Sub questions

Question Number : 146 Question Id : 6154757972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ICADAEELLTELEYRLDE(1L)~(4) OFNLIBEERR S

(1) i @) Y
3 RE (4) HEIR
Options:

E1547531081. 1
B1547531082. 2



E1547531083. 3
51547521084, 4

Question Number : 147 Question Id ;: 6154757973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EH2ITIE, BERERBELELEZTEO, (1)~(4) OFMHERBBR &L,

) BIEOBEICHWEATYL, TOERERLEHEICHEXZ I Zo7nb,
@2 FHLEWMEMZ L — FEEIX, BERKFHIWOTHEZ 00,

)

)

H G D Tl j":f_..ff”‘bli"rw TWiWh— FBEFE > Tthb,
R HBIZEENRTE T, FAOI — /1—DEWETENTEXENE,

Options:
1547531085 1

E1547531086. 2
BE1547531087. 3
515475210858, 4

Question Number : 148 Question 1d : 6154757974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ICADBTEL L TRBEIERLDZ(L)~(4) OFPNLELLR IV,
(1) LaxL
2 EnT

(4) L2

Options:

1547531089, 1
61547531090 2
61547531091, =
61547531092 4

Question Number : 149 Question 1d : 6154757975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FI A EFRR L TWHWADA, (1)~(4) OFNLERZ IV,

(1) > O — FERZFEZLICEE L7-H#H
2 HEINTISFIIANELEY A XD — FER
3) A BRYA ADOH— FEEZEDR 2o 7-HH

1)  FBLHY A XDh— RERAZE - 7-FH

Options:

61547531093,
61547531094,
61547531095,
1547531096,

[ N Y

Question Number : 150 Question Id : 6154757976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SRV 1T ROG— FEERZ2Ho - ETEFI O EEBM D,
(1)~(4) DFNLEWVLR IV,

1) BEICE, BELELTHEVWRTWVREILEWVI HLORH S,

@2 TEHMARE—HEICELHRL D, BEORRKEIZZRS 06 LR,
@) EEIZ, EINUVUTEWVIZERLECST S TERIR L 07,

(4) VO THEFBINTE ZITEEREWVILEDRWIE S 30U,

Options:

61547531097, 1
61547531098, 2
61547531099 =
6154753211004



